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E3-M2-Lesson 12

1. Complete the chart.

I measured the width of a picture
frame. It was 24 centimeters wide.

D b ‘ 1 Measurement _.;: The p_bj_ect measures between: i.ength rounded to the
8 _j_ec N e ' (whlch two tens} :
Width of
picture frame 24 cm <0 __and_30 om 20 em

| can use a vertical number The endpoints on my vertical number line
line to help me round 24 cm help me know which two tens the width of
to the nearest 10 cm. the picture frame is in between.

&, F 3 A,
—_ s 20 = 3 fens e 20 = 3 tens
exhoeen i 203 = 2 TENS 5 ones w53 = 2 tons 5 pnes

e 24 = 2 tens 4 ones

em T 20 =2 tens amn T 28 = 2 tens P 20 = 2 tens

¥ v Ad

There are 2 tens in /One more ten than Z tens is
24, so | can label 3 tens, so | can label the

this endpoint as 2 other endpoint as 3 tens or
tens or 20, 30. Halfway between 2 tens
and 3 tens is 2 tens 5 ones. |
can label the halfway point

//ji can plot 24 or 2 tens 4 ones
on the vertical number {ine. |
can easily see that 24 is less
than halfway between 2 tens
and 3 tens. That means that
24 cm rounded to the nearest

\\as 2 tens 5 ones or 25. /} \j_o cmis 20 cm. /}

EUREK A Lesson12: Round twe-digit measurements to the nearest ten on the vertical number tine. 19
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2.

Measure the liquid in the beaker to the nearest 10 milliliters.
-
70 mL : - \
60 ml : I can use the beaker to help me round the
=0 mL amount of liquid to the nearest 10 mL. | can
s see that the liquid is between 40 (4 tens)
and 50 (5 tens). | can also see that the liquid
is more than halfway between 4 tens and 5
tens. That means that the amount of liguid
rounds up to the next ten milliliters, 50 mlL. /
There are about___ 58 milliliters of liquid in the beaker.
The word gbout tells me that
this is not the exact amount
of liquid in the beaker.
20 Lesson 12: Round two-digit measuremenis to the nearest ten on the vertical number line. EUREKA
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